Puissances de Dix (])

Trouvez chaque produit ou quotient.

94 +0,01= 2,3176 + 0,001 =
1,932 + 0,001 = 2,3 x 100 =
9,467 - 10 = 6x1000=
6,173 + 100 = 51531 +-10=
1,2 x 0,001 = 4,62 +0,1=
9,388 X 1000 = 1,552 x 1=
8,6007 x 10 = 6,5687 - 1000 =
1,37 +-1000 = 1,57 x 1000 =
8,3005 +1= 8,96 x 1000 =
4,004 x 100 = 4,6647 X 100 =
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Puissances de Dix (J) Solutions

Trouvez chaque produit ou quotient.

9,4+ 0,01 =940 2,3176 =~ 0,001 =2 317,6
1,932 + 0,001 =1932 2,3 x100 =230

9,467 - 10 = 0,9467 6x1000=6000

6,173 +-100=0,06173 51531 +10=0,51531

1,2 x 0,001 =0,0012 4,62 + 0,1 =46,2

9,388 X 1000 =9 388 1,552 x1=1,552

8,6007 x 10 = 86,007 6,5687 =1 000 =0,0065687
1,37 +1000=0,00137 1,57 x1000=1570

8,3005 + 1 =8,3005 8,96 x 1000 =38960

4,004 X 100 =400,4 4,6647 X 100 = 466,47
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